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() 27. Nobody can the result of the election because both
politicians are quite popular.
(A) obtain (B) polish
(C) monitor (D) predict

() 28. The long line of customers waiting in front of the
restaurant is a clear sign of its .
(A) ingredient (B) glimpse
(C) popularity (D) delight

() 29. This spring was unusually warm, so the flowers
earlier than usual.
(A) reflected (B) purchased
(C) criticized (D) blossomed

( ) 30. The way people decorate their home often closely

their personality and tastes.
(A) bulges (B) reflects
(C) differs (D) impacts

Part 5: Cloze (20%)

Orpheus was the son of Apollo, the Greek god of music and
poetry. He had learned to play the lyre with great skill and _ (31)
from his father. One day, a beautiful wood nymph called Eurydice
was attracted by a song Orpheus was playing. As soon as Orpheus
_(32)__ aglimpse of her, he fell in love. From that day on, nothing
could separate them. _ (33) , a great tragedy occurred. Eurydice
died from a fatal bite from a snake. Orpheus’s grief was _ (34)
deep _ (34)  he could no longer enjoy playing music. He was
~ (35)  theidea of getting Eurydice back from the dead. His father,
Apollo, felt such pity for him that he decided to help. He talked to
Hades. the god of the underworld, to try to get Eurydice back.

( )31, (A) grace (B) impact
(C) luxury (D) costume
( )32, (A) delivered (B) took
(C) released (D) caught
( ) 33. (A) Afterall (B) For example
(C) Soon after (D) In addition
( )34, (A) wo/to (B) as/as
(C) so/that (D) more / than
( )35 (A) composed of (B) consumed with
(C) unaware of (D) associated with
[Paragraph Bl

The COVID-19 pandemic has aftected billions of people’s lives
and it may continue to do so for many years. Any new public health
~_(36) _ designed to combat the virus will likely affect some
industries. While some effects of the pandemic have been fairly easy
to predict, others have been more unexpected. _ (37) _, much of the
data used to forecast the weather is collected by commercial
airplanes as they fly across the wnrld.  (38)  flights are at an
all-time low, meteorologists have less data to go on. This means our
weather forecasts have become less accurate than before. In the
future, this lack of data may affect our ability to predict extreme
weather and __ (39)  climate change. A world _ (40) _ COVID-19
continues to exist will present many challenges. For now, preparing
for what those challenges might be 1s the best we can do.

{ )36, (A) limes (B) disorders
(C) measures (D) hurricanes
( )37. (A) Evenso (B) For example
(C) Furthermore (D) As opposed to it
( ) 38. (A) Now that (B) Ever since
(C) Not until (D) In spite of the fact that
( ) 39. (A) boast (B) decorate
(C) preserve (D) monitor
( ) 40. (A) which (B) unless
(C) where (D) though

Part 6: Short Passage Questions (10%)
Read each paragraph and answer the questions.

What images come to mind when you think of Christmas? It
probably depends on where you live. If your home is in the northern
hemisphere, where Christmas falls in the winter, you might think of
Santa Claus driving his sleigh over snow-capped trees. But for those
living in the southern hemisphere, where Christmas falls in the
summer, it’s a different story.

In North America and parts of Europe, the centerpiece of
Christmas is the Christmas tree, which is typically a pine, spruce, or
fir. Freshly cut and placed in the home, they symbolize Christmas
for their appearance and their piney scent. In the southern
hemisphere, mstead of conifers, other types of tree are used fo
represent Christmas. New Zealanders consider the pohutukawa tree,
with its flaming red blossoms and pointy petals, to be their
Christmas free. In the United States and some other northern
countries, a typical Christmas meal reflects the winter season and
includes roast turkey or ham, mashed potatoes, and root vegetables.
By contrast, people in Australia and New Zealand commonly have a
feast that includes barbecued prawns. Unless Santa Claus begins
wearing sunglasses and shorts to deliver his gifts, Christmas in the
northern and southern hemispheres will likely continue to have
different characteristics.

() 41. Where might a person live if they picture Santa sledding
on snow when they think of Christmas?

(A) Northern Europe.

(B) South America.

(C) Australia.

(D) New Zealand.

Which aspect of a Christmas tree in the northern
hemisphere symbolizes Christmas?

(A) The place where the tree is planted.

(B) The way the tree smells.

(C) The function of the tree’s leaves.

(D) The legend of the tree.

() 43. Based on the passage, which is NOT an example of a
conifer?
(A) A pine tree.
(B) A spruce tree.
(C) A firtree.
(D) A pohutukawa tree.

What does a Christmas meal in the United States reflect?
(A) Life near the sea.

(B) The importance of root vegetables.

(C) A balanced diet.

(D) The cold season.

() 44.

What is the main purpose of this passage?

(A) To compare how a holiday is celebrated in different
parts of the world.

(B) To list Christmas trees in the northern and southern
hemispheres.

(C) To hwmmoavn different ways of cooking the Christmas
meal.

(D) To explain why Christmas is popular around the
world.
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¢ )29,

(A) She shopped at a different supermarket.
(B) She cooked some soup for the man.
(C) She forgot to buy soup from the store.

She bought a different kind of soup.

(A) They taste really good.

(B) They could make someone sick.

(C) She put them in the refrigerator earlier.

(D) The man should eat them as soon as possible.

Part 4: Short Talk Questions (10%)
Listen to the following paragraph and answer the questions.

( )3L

¢ )32

—~
~—
LI
(U8

( )34

( )35

(A) It was released when Katy Perry was 17.

(B) It includes several number-one songs.

(C) It was Katy Perry’s first album.

(D) It features Katy Perry’s first hit..

(A) Believing in oneself.

(B) The end of a relationship.

(C) The joys of being a mother.

(D) The value of friendship in life.

(A) Her sense of humor.

(B) Her acting skills.

(C) Her live concerts.

(D) Her fashion style.

(A) Perry’s latest album topped the chart in the US.
(B) Perry starred with Orlando Bloom in a movie.
(C) Perry wrote a song about her daughter.

(D) Perry told the public that she gave birth.

(A) Always changing.

(B) Sad and thoughtful.

(C) Funny and exciting.

(D) Powerful and confident.

Part 5: Vocabulary (20%)

( )36

( )37

( )38

( )39,

( ) 40.

()4l

() 43.

Bubble milk tea ____ chewy tapioca balls and flavorful
milk tea.

(A) freezes
(C) arranges

(B) features
(D) exists

Anna her tea carefully because it was very hot.
(A) stung (B) dripped
(C) relied (D) sipped

You will be
(A) responsible
(C) internal

for taking notes during the meeting.
(B) enjoyable
(D) disappointed

The man ran into a nearby store, shelter from the
sudden rain.
(A) seeking
(C) observing

(B) repairing
(D) containing

When it comes to choosing a boyfriend, Mia is picky and
has very high .
(A) techniques
(C) emotions

(B) standards
(D) records

The elevator is out of order, so I will take the stairs .
(A) instead (B) probably
(C) indeed (D) typically

This phone has lots of special functions, so it’s higher than

the price.
(A) frozen (B) average
(C) scary (D) suitable

Thanks to medical
can be cured today.
(A) conditions

(C) patterns

, many deadly diseases in the past

(B) varieties
(D) advances

2/

) 44.

) 45.

) 46.

) 47.

) 48.

) 49.

) 50.

) 51,

) 52.

) 53.

) 54.

) 55.

Despite no obvious wounds, Albert underwent extensive

testing to make sure there were no injuries.

(A) normal (B) amazing

(C) internal (D) sensitive

Lack of sleep isone ____ that can lead to poor health.
(A) trail (B) flow

(C) factor (D) battle

Rather than modern music, Joe prefers classic tunes.

(A) pop (B) ripe

(C) noble (D) wealthy

One of the sales staff will you in your search for a
washing machine.

(A) affect (B) assist

(C) prevent (D) respond

The look of horror on the audience’s face was clear proof

of how the movie was.

(A) average (B) fellow

(C) harmful (D) scary

The robber and raised his hands when the police

officer pointed the gun at him.
(A) sought (B) froze
(C) advanced (D) considered

People in Hawaii are known for wearing shirts with
colorful on them.

(A) decades (B) factors

(C) patterns (D) industries

Since Michelle enjoys traveling, being a flight attendant is
a(n) job for her.
(A) internal

(C) necessary

(B) incomplete
(D) suitable

The password that you’ve just entered is . Please try
again.

(A) responsible
(C) enjoyable

(B) brilliant
(D) inaccurate

Shopping in the mall is convenient because it
various types of stores.
(A) repairs

(C) describes

(B) observes
(D) contains

I always use the _ to heat up my meal when I don’t
have much time.
(A) capital

(C) microwave

(B) bacteria
(D) standard

Using the cellphone too much will greatly your
eyesight.
(A) affect (B) support

(C) generate (D) announce
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